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Details of error and changes to be made 

2d  4.2 Part (c) should say ‘This is $15,000 more per day…’ not ‘This is 

$60,000 more per day…’ 

12  1.2.1 The example should state that workers have agreed to make the 

Widgets and Splodgets in 95% of the time stated in the original budget. 

Question 

Bank - 

Bottlenecks 

  Q19 should say: 

‘Given that the variable overhead cost, based on the value 
(in $) which applies to the original estimated 
production/sales mix, is now considered to be fixed for the 
short/intermediate term..’ 

 

 

 

 


